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Essential Question
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F—){ \ From the top of a 200ft lighthouse, the angle of
depression to the sea is 23 degrees down to a ship. How
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Samp¥e %(am Question

Daniel and Theo are trying to work out the height of a bird's nest in their
garden. From Theo's bedroom window, which is 4m above the ground,
the angle of depression of the nest is 10 degrees. From Daniel's position
at the end of the garden, 8m away from the hog?se, the angle of
elevation in 30 degrees. Find the height of the nest above the ground.
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